Caluclus AB NAME:

MC Packet 1 - Pre-Calculus and Trig PERIOD:

In-Class Together: Problems 1-8

The graph of v* =x* +9 is symmetric to which of the following?

I The v-axas
II.  The v-axis
III.  The origin

(A} Ionly (B) IIonly {C) IHonly (D) Tand Il only (E) LI andIIl

If the function f is defined by f(x)=x"—1. then /7!, the inverse function of f.1s defined by
S o=

1 | s

A) - (B) © =1
N | Yr+1

(D) Vr-1 ® V-1

If logJQ“}:%, then a =

{A) 2 (By 4 (C) 8 (D) 16 (E) 32



Let fix)= siux—-};\. The maxinum value attained by f 15
3 b an
@ (B) ! © 7 @ 3 (E) =
Let f(x)=cos{arctan x}. What is the range of f?
{A) -fr —»—-TE<\'<£~|> ! ! !
N REREAY (B) Ix|0<x=l () (x]0svsi)
(D) {.\‘|—l<: .\‘<J.} (E) :—xlwlz.\'sl}

If'the gra = Brd i i

graph of 1 o has a borizontal asymptote v =2 and a vertical asymptote x =—3.
then o +c=
(A) -5 B) -t - @ o (D) 1 (E) 5



In-Class: Problems 7-14

@ The set of all points (¢’.7). where ¢ is a real number. is the graph of 1 =

1 L

(a) B) o (©) e ® —  ® b
@ Inx
Suppose that f is a function that is defined for all veal numbers. Which of the following conditions

assures that f las an inverse function?

{A) The function f is periodic.

(B) The graph of f is synuetric with respeet to the v-axis.
{C) The graph of f is concave up.

(D) The fanction f is a strietly increasing function.

(E} The function f is continuous.

@ Which of the following equations has a graph that is symmetric with respect to the origin?
(Ay »= x+l (B) y= —¥" +3x ¢y »= P -2v7 46
.
(D) r=(v=1)+1 B  v={x+lf -1

If 1 is the function given by (x) = f(g(x)). where f(x)=3x"~i and g(x)= | x , Ldhen i(x) =

A) ¥ -[x] (B ’3_\e3—1l © 3¢|x]-1 (D) 3x|-1 (B 3-1



®

4cos[x+¥ }=
(A) 243 cosx—2sinxy (B) 2cosy—243sinx ()
(D) 24/3cosx+2sinx (E} dcosxy+2

deosy+ .‘Zﬁ sl X

If f(x)=e", which of the following lines is an asyniptote to the graph of /7

(A) v=0 (B) x=0 (C) y=x (D) vy=-x E) r=I1
(x-2)<0 if and only if

(A) x<3 B) O0<xy«3 (€)Y 2ax<l
(D) x>2 (B} x>3

The function defined by f(x)=+/3 cos ¥+ 3sin x has an amplitude of

(A) 3-+3 (B) 3 (€ 243 (D) 3-43

(E) 33



Homework: Problems 15-27

/\

AT

The graph of v = f(x) is shown in the figure above. Whick of the following could be the graph
of v=r{|x[)?

A) y (B

[

R N R Y B B S T 4 oNA 4

4 L
- e e e N T

. |

© y

-t

If flg(x))= 111(.\’2 +4), f{.\')=111(.\'2), and g{x) >0 for all real x. then g{x) =

(A) L (B) :l (C) Vx +4 (D} * +4 (E) x+2

< +1 ¥ +4

e e ——— A ke ¢ ——— i ———— . = . o — e ——

The domain of the function defme_d by fix)=l (.\‘: - 4) 1s the set of all real numbers v such that

(A [x]<2 (B) |[x|x2 € [x]-2 (D) |x[<2 (E} x is areal number

If f(v)=e"sinx, then the number of zeros of § on the closed interval [0.2q] is

(A) 0 (B) ! (©)

b2

(D) 3 (E) 4




If the domain of the function f givenby f(x)= : - 18 {x:[.r|> 1}, what is the range of f?
l—x~
(A) dxi—z<x<-l} (B) {x:i-n<x<0) €} {xi-z<x<l}
(D_} {.\‘1—[<.‘\‘{ 'f.:} (E) {_‘\‘:O{:\-<-j_.}

If n .r—ln{ % ] =2, then v =

(A} iz By = ) e (D) 2e (E) e*
e e
@ The fundamental period of 2cos(3x) is
2n .
(A) Y (B) 2n (Cy O=x ™ 2 (E) 3

. 4
@ It 7 {.T)=-‘_-—I and g(x)=2v. then the solution set of f(g(x))=g{f (¥)} s

(1) = o
(A} i;} By 424 (C) {3} (D) {-1.2! (E) {%2}
G2 Which of the following defines a function f for which f(~x)=—£{x)?
A) flxy=x" (B} f(x)=sinx () f(x)=cosx
(D) flx)=logx (E) flxay=e"



-2

The figure above shows the graph of a sine function for one complete period. Which of the

followmg is an equation for the graph?

(A) w=2 sin{ %.\' [ (B) v=sin(mx)

L 4

(D) v=2sin{nx) (E) v=sm(2x)

(C) r=2sm{2x}

Va' -4 o

What is the domain of the fanction f given by f(x)=

x=3
(&) {x: x=3} B {xi|x]|s2}
(D) ix:|x|22 and x#3 (B) {x:x22and x#3)

If fx)= al - then the inverse function, £, is givenby 77 (x)=
X
a = ® (C) — (D) —— E) x
X x I—x y+1
The graph of which of the following equations has y =1 as an asviptote?
(A) r=hy (B) y=sinx  (C) r=— @) r= .--1 (E) 1=o
-



